


‘IIII||III|I|I||II||||III||I|||I|II|II|f’llII|IIIIiI||||I|I|||Il||||l|||II||||II‘I||||I|II|III|||||1|II|||III|‘II|I|||II|IlI||IIII|II|||I|I||III|[IIII\IIII]IIII‘|II|||||I|I||I|II|l||III|II||

ORI 021 091 081 Ovl ORI 0@l oIl o0l O 08 0L 09 0% ov 0g 02 0l

06l

Service * Assistenza ¢ Dienstverlening * Serwis
Servis * Szerviz * CepsucHan cnyxba

Names » Nom + Noma « Naam -
Nazwa « Jmono » Nazav « Név
jre » sim » Hassarwe

N\i"h.'“"[hﬂp»é-&

2475 7548
4400 4024
2942 4105
2667 3924

8306 9034
6106 3341
6473 3715
2615 6766

5290 2639
7417 3827
5557 4805
7019 3943

Typ * Type * Tip » Tipus * Tipo «
Twn

90 X200 CM 140 X 200 CM
180 X 200 CM

KB-518

4

y M8x25 y M8x35 9 M8x55 y M8x40 y M8x19 y M8x13
24x 8x 4x 4x 52x 40x
a® @ l® -
G 92x92x144 [ H mex13 | [1 92x41x210|[ J 30x30x5  |[K M5x40x100 | [ L 85x26%2. 0T
J 4x J 12x j 2x J 6x J 1x J 1x
e $







B4
M8x25
8x

\\\«m«m\@

_—

8x

©

e

8x

0

_K/ M5x40x100
1x

e

4x

\mm\m\kk\\«u@

T e
4x

ﬁ M5x40x100
1x




M8x40
4x

m\\«*“‘“@

A










	1
	2
	3
	4
	5
	6
	7



